Q

FSP,

Kia Stinger Front Combo Splitter V3 - Packing List / Installation Instructions

Parts:

(1) Front splitter

(1) Skid Plate w/ pre-installed nuts
(1) Removable rear cover

Hardware:

Bagl

(38) ¥4-28 x 17 Countersunk BOLTS (fine thread)
(38) Y47 Countersunk (flat head) WASHERS
(21)%-28 Nyloc NUTS

Bag 2
(2) M6-1.0 x 40mm Hex Bolts

(2) M6-1.0 Nyloc NUTS
(4) Va”x1” Washers
(2) 20MM Spacers

Bag 3
(2) M6 Countersunk BOLTS

(2) M6 Countersunk (flat head) WASHERS
Installation Instructions - Scan This QR Code:

UPDATE: Most bolts are now '4-28 (5/32” allen head / 7/16” wrench). The two
bolts that mount to the radiator support and rear frame are still M6 (bag 2) - 4mm
allen head / 10mm wrench.



